STEP 1:

E3GS01

@)

0 g

0]

W14 J18pcs

4 Tipes[ R | wexi6 Pppcy

NO. SIZE QTY
1 1800%400%16 1
2 176439816 1
3 634%399%16 2
4 618357%16 1
5 618%397%16 1
6 618%397%16 !
7 429338+ 16 3
8 628+439%5 1
9 614%434%16 2
10 614%425%16 1
i 425%203%16 3
12 300%150%12 6
13 380+150%12 3
14 39042945 3

Pull to split the

gliders into 2 pcs

i

@

& 20

A | M6*40 POpc

B_[ 915115 oped

C [ +8%30 POpc

)

@

@ g black black
D Joxdom Jizset] B ] wasid [36pes] F ] w0 Jizpes
G2 &
¥ )
G | M6*2 [rped 1 [wsoom Ji8ped Q] / [6pc
0] 4 Tipes| R T wexi6 [6pcs| K [ 10" [3set
M [bigbendPped N | /  Ti2pcs| J [ L=612 [3pcs|

7z
/ e @
H ] (=423 Ppey P | [t 2] 020 [oos
STEP 3:
Q
.
i g | |
A | M6*40 [fpcy B |O1oFTI5 [4pcs| C | qpeaQ_Ppos




G | M6*2 [7pcs

==

)

A | M6*%0 JOpcd B [915°115 i0ped C | #6%30 [0pc

==

A | me*40 PBpcs B [415*1.56pes| C | ¢8*30 [Bpcs




N

2l

“




	1
	2
	3

